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A=4, AUB={1,2,3,4,5,6}, A-B={1,34}

A+B=(A-B)U(B-A) ={1,3,4}U{5,6} ={13,4,5,6}

AnB ={2}={1,3,4,5,6}

AxB={(1,2), (1,5),(1,6),(2,2), (2,5),(2,6),(3,2), (3,5),(3,6),(4,2), (4,5),(4,6)}
P(B)={B. ¢, {2}, {5}, {6}, {2,5}, {2,6}, {5.6}}.

()
AUBNC)={x: xeA v xeBnC}
={x: xeA v (xeBaxeC}
={x: (xeA v xeB) A(xeA vxeC)}
={x: xe(A UB) Axe(A UC)}
=(AuB)N(AULC)
kg Y WA EY
Xx(Yu2Z)={(a,b): aeX, be(YuU2)}
={(a,b): aeX, (beYv be2)}
={(a,b): (aeX, beY)v (aeX,be2)} 0]
={(a,b): (a,b)e(XxY)v (a,b)e(Xx2)}
=(XxY)u(Xx2)
(<)
(1) VvV aeN, ata=2m(even) = (aa)eR dsle 3%l ody -,
() Vo (Xy)eR = (yX)eR Ailaie 480l 1A -,

(3) vV (xY)eR (y,2)eR x+y=2n, y+z=2m
= X+z=2n-y+2m-y=2n+2m-2y=2(n+m-y) (even) = (X,2)eR
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[1]={1,3,5.7,... }=[3]=[5]=...
[2]1={2,4,6,8.... }=[4]=[6]=...

{135,7,..3{2,4,68,..}=¢, {1357,..3{2468,...}=N
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(1) '~V aeA (@a)eR dusle A8l oda .
2) Y *Y)eR = (yx)eR ALLata 482} o3 .,
(3) vV (xYy)eR, (y,2eR= (x2)eR 4060 A8Mal) oda ..

S A 2 ABMal) oda (o dad Gaa Laag
Dom(R)={a,b,c}, Range(R)={a,b,c} sl g Jlaal
ussaal) R1={(a.a), (b.2), (ab), (b,b), (c.0)}

A Eua (9)

YV X, X,eN, f(x

1% 1)=f(x2) = 2X,+3=2X,+3=>X, =X

1 2 1 72
daalal Al sl )

(f 0 9)(X)=F(g(X))=2(3x2 —4)+3=6x2 —8+3=6x2 5.



